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1 100kN/m%#EZ % — -~ = —|3mziBzB| — — — — | 100kN/m%#8 %% — - ~ — —|3m%iB2% -~ — — —
Zh s — - ~ = —| Fhiist — — — — Zh st — — ~ — —| Zh st — ~ — — —
2 100kN/mZ#B% % — -~ = —|3mEBzB| — — — — | 100kN/M%E# % % — - ~ — —|3mZE#BZ D -~ — — —
Zh s — -~ = —| Fhiist — — — — Zh s — - ~ — —| Fhist — ~ — — —
3 100kN/m%Zi#BZ5| 100|000 ~ 026 103.80 |3mEB23B| — — — — | 100kN/m%Zi#8%% | 1.00 | 1071 ~ 1145 103.80 |3m%E#BZ% -~ — — —
LISt 100|026 ~ 804 100.00 | =nLst | 0.00 0.0011.70 8.60 LS 1.00]5.00 ~ 1071 100.00 | =ns | 5.00 ~ 11.45| 1.70 8.60
4 100kN/mi%i#8Z2% | 1.00| 000 ~ 089 113.30 |3mEEZ3B| — — — — | 100kN/mi%E#8B25 | 1.00 | 1065 ~ 1345| 113.30 |3mZE#BZ5 -~ — — —
Zh st 100089 ~ 867 100.00| ThLs | 0.00 0.00]1.71 8.66 Zh s 1.00]56.00 ~ 1065 100.00| THUS |5.00 ~ 1345|171 8.66
5 100kN/mM#Z#8Z5| 100|000 ~ 062| 10928 |3mEBZZ| — — — — | 100kN/mi%E#B25 | 1.00 | 11.25 ~ 1345| 109.28 |3mZEi#BZ% -~ — — —
Tt 1.00 | 062 ~ 841 100.00 | =hlst | 0.00 0.00 | 1.64 8.28 Th st 1.00)5.00 ~ 1125 100.00 | Thih | 65.00 ~ 1345 1.64 8.28
6 100kN/m#Zi#8Z5%5| 1.00| 000 ~ 105| 11583 |3mZEBZB| — — — — | 100kN/MZE#BZ5 | 1.00 | 1066 ~ 1412 11583 |3mE#BZ5 -~ — — —
LSt 100|105 ~ 884 100.00 | =nst | 0.00 884|211 10.66 Zh LS 1001500 ~ 1066 100.00| Ths |6.00 ~ 1412|211 10.66
” 100kN/m#Z#8Z5| 1.00| 000 ~ 105| 11577 |3mZEiB25| — — — — | 100kN/mi%&i#8Z5 | 1.00 | 1072 ~ 1423 | 115.77 |3mZEBZ% -~ — — —
Th st 100|105 ~ 883 100.00 | =h LS | 0.00 883|210 10.59 ZTh s 100500 ~ 1072 100.00| ThLS | 5.00 ~ 1423|210 10.69
g 100kN/m%Zi#8%%| 100|000 ~ 118| 117.85 |3mEBZ3| — — — — | 100kN/mZ#BZ% | 1.00 | 1062 ~ 1453 117.85 |3mZE#BZS -~ — — —
st 1.00\| 118 ~ 897 100.00 | =hLlst | 0.00 8971212 10.74 Th s 1.00) 5.00 ~ 1062 100.00 | This | 5.00 ~ 1453|212 10.74
9 100kN/MZ#8Z% | 1.00| 000 ~ 103 115.56 |3mZBEA5| — — — — | 100kN/MZE#BZ5 | 1.00 | 11.59 ~ 1600| 11556 |3mEBZ5 -~ — — —
LSt 100|103 ~ 882 100.00 | =nst | 0.00 882|216 10.94 LS 1005600 ~ 1159 100.00| FhLst | 65.00 ~ 1600\ 2.16 10.94
70 100kN/MZ#8Z5 | 1.00| 000 ~ 133 120.13 |3mZBZB| — — — — | 100kN/m%# %% | 1.00 | 11.74 ~ 1826 120.13 |3mZEBZS -~ — — —
st 100|133 ~ 911 100.00 | =hLS | 0.00 911|215 10.88 s 100500 ~ 1174 100.00 | =ns | 5.00 ~ 1826|2.15 10.88
11 100kN/mZi#8%% | 100|000 ~ 119| 117.91 |3mEBz3| — — — — | 100kN/m%Z# %% | 1.00 | 1054 ~ 1433| 117.91 |3mZE#BZ3 -~ — — —
st 1.00\| 119 ~ 897 100.00 | =hLst | 0.00 8971 2.16 10.93 Th st 1.00)5.00 ~ 1054 100.00 | This | 5.00 ~ 1433|216 10.93
12 100kN/mZ#EZ % — -~ - —|3mZEB2B| — — — — | 100kN/m%Z#8 %5 — - ~ — —|3m%EEZS -~ — — —
st 1.00 | 000 ~ 582 72.87 | TSt | 0.00 582\ 1.87 947 TSt 1.00) 5.00 ~ 6.80 7287 | TS | 500 ~ 6.80 | 1.87 9.47
13 100kN/m#Z#EZ % — -~ - —|3mziBZ 3| 0.00 0.24 | 3.50 17.67 | 100kN/m%#B %% — - ~ — —|3mZEi#BZB| 5.00 ~ 5.00 | 3.50 17.67
Zh st 100|000 ~ 113 7.85 | =LA | 0.24 113 3.00 15.16 ZTh s 1.00]5.00 ~ 5.00 7.85 | =S | 5.00 ~ 5.00 | 3.00 15.16
100kN/mZ#EZ % ~ ImZEHBAD 100kN/m#Z#B 2% ~ ImZEHBAD ~
Zh s ~ Zzh s Zh s ~ Zh s ~
100kN/mZ#EZ % ~ ImEEZD 100kN/m#%#EZ 5% ~ ImEEBZD ~
Zh st ~ Zh s Zh st ~ Zh s ~




